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10 Complete male sterility of Brassica napus L plays an important role in heterosis
utilization.



é £ e % https://www.tjqzz.com/

gobooboooboooboobboooboonoobo.

200 Dominant genic male sterility ( DGMS ) is an important way to utilize the heterosis
of Brassica napus.
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300 Using genetic distance as independent variable and heterosis as dependent variable,
we carried out regressing analyses.
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47 Selecting parents with medium genetic distance may probably gain stronger heterosis.
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500 He made splendid achievements in starting and promoting the use of hybrid
heterosis.
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